TH6EE 12ATSETFEIE#EA]

B|BE|1]|2[3|4|5]|6 TE AV I =
18 1
2| A @2FEEFEFAREELERTHRAS 0] 2
3| K 3
4|%x|3(4|5|6 SEREIEEMEE (45%4) PTABEEES x | 4
5 [ K HRFER x 5
6 | & HRFER x 6
7|t 7
8 | B 8
9| A HREGER x 9
10| K MARAR Elﬁgﬁzggg%;;aw’mmow x 10
1m|{x|1]2|3|5 HRIEERIE] (4 5 % 4) x 11
12| x|13|4]|5|6 ERIEFRIEI(4 5 x 4) BEH 2B BIRE x 12
1321 BRIEREI(4 5 % 4) x 13
14| £ EIEERBAR 14
15 | B 15
16 1 E HRIBSRIEI (4 5 x 4) @31 - 23EHE 1vs—vyyTmameEsss | x| 16
17 | sk | sse 5 HRIBSRIEI (4 5 x 4) @®1 - 22EHE x |17
18| k|1 4 HRIEFRIEI (4 5 % 4) Q31 - 22GHE x 18
19| K FRIRERIEI (4 5 x 4) 1 2¥FE2EERABET R ~ X 19
20| %|2]4|588 HRIERIEI (4 5 x 4) x| 20
21| £ 21
22 | B 22
23| A|2(3[4]5 HRIBERAEI (4 5 x 4) x 23
24 | K LHR #&%=( X 24
25 | 7K ZF MM SHFAER R IR (R 8D 25
26 | K 26
27 | & 27

30| A 5E2FAre 30

31| K sE2Fra 31




